[D3PLOT: ...0000\Oasys_LS-DYNA\Training\Tutorials\Reporter_Tutorial_Feb2019\Crank_Design_Cicrank_design_c ptf Von Mises Stress [D3PLOT: ...0000\Oasys_LS-DYNA\Training\Tutorials\Reporter_Tutorial_Feb2019\Crank_Design_Ccrank_design_c.ptf X Displacement

1: Max H1091 : 8.463588E+01, Min H4120 : 2.199638E-01 1: Max NS976 : 1.327066E+00, Min N2846 : -2.192686E-03
023 -0.002
6.72 0.100
13.21 0.202
19.70 0.305
26.20 0407
3269 0.509
39.18 0.611
45.68 0.714
5217 0.816
58.66 0918
65.16 1.020
7165 1123
78.14 1.225
84.64 1.327
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Maximum von Mises stress = 84.64 MPa
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